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SEfRHOAE | #ErEE | 07881002 Errf \ A& —2 | FRTEHD B
SMER O T imICHEiET 51 SIERMN
ﬁ;’g TREOBEBOTILEHOKRES TREOHBEEILNOKRES TEFEOBRBOEILHDOKRES TREOHBESSLADKRES
7 100kN/m##8x5 | 1.00 | 0.00 ~ 031 104.50 |3mZzEBZB| — ~ — — — | 100kN/m%#82% | 1.00 | 1056 ~ 11.40| 104.50 |3mE#Z5 - ~ — — —
s 1.00 | 0.31 ~ 809 100.00 | =nst | 000 ~ 809\ 2.15 10.87 ThList 1.00 | 6.00 ~ 1056 100.00 | =St | 6,00 ~ 1140|215 10.87
2 100kN/mM##BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%E#8% % — - ~ — — |3ImEFBZ B - ~ — — —
ZhnLst 1.00 | 0.00 ~ 752 96.22 | =hLs | 000 ~ 752 1.81 913 zhLst 1.00 | 5.00 ~ 9.92 96.22 | #hst | 5.00 ~ 9.92| 1.81 913
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — | 3ImZFBZ B - ~ — — —
s 1.00 | 0.00 ~ 452 56.39 | =nLS | 000 ~ 000 1.57 7.91 ThList 1.00 | 5.00 ~ 56.00 56.39 | =nhS | 5,00 ~ 5,00 1.57 7.91
4 100kN/mM%BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 000 ~ 477 59.41 | =nLS | 000 ~ 000\ 1.76 8.88 ThList 1.00 | 5.00 ~ 56.00 59.41 | =hs | 6,00 ~ 56.00| 1.76 8.88
5 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — —|3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 764 97.86 | =nLs | 000 ~ 764\ 2.02 10.22 st 1.00 | 5.00 ~ 10.79 97.86 | =hLs | 5,00 ~ 10.79| 2.02 10.22
p 100kN/mM#E#BZ % — - ~ — —|3mZBZzB| — ~ — — — | 100kN/mM%E#8% % — - ~ — — | 3ImEFBZ B - ~ — — —
ZhLst 1.00 | 0.00 ~ 7.78 99.92 | =S | 000 ~ 7.78)| 2.03 10.26 zhLst 1.00 | 6.00 ~ 1115 99.92 | #hS | 5,00 ~ 1115| 2.03 10.26
7 100kN/m%x#8z5 | 1.00 | 000 ~ 1.07| 116.05 |3mE#Bz5| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1083 ~ 1454 116.05 |3mE#z2 % - ~ — — —
Thilst 100|107 ~ 885 | 100.00| Fhis | 000 ~ 885| 2.07 10.48 ThLst 100|500 ~ 1083 100.00| ZhLS | 5,00 ~ 1454 2.07 10.48
P 100kN/m%#8z25% | 1.00| 000 ~ 1.07| 11613 |3mEB2B| — ~ — — — | 100kN/m%#B=% | 1.00 | 1057 ~ 1398| 116.13 |3mE#BZ5 - ~ — — —
Thilst 100|107 ~ 88| 100.00| This | 000 ~ 886 214 10.82 ThLlst 1.00 | 5.00 ~ 1057 100.00| ThLS | 500 ~ 1398 2.14 10.82
100kN/M%#22 % ~ 3mEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
zhsn ~ zhst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEBZD ~
Thilst ~ Thilst ~ ZhLlst ~ Zzhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/mM%#2Z % ~ ImEEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
Ths ~ zhs ~ Thsn ~ ZhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
Thilst ~ ThLlst ~ ThLlst ~ Zzhust ~
100kN/MZ#2Z % ~ ImEBAD ~ 100kN/ M%Z#BZ % ~ 3mEBZ D ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~




